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Let ydx+(x-y°)dy=0 be a differential
equation,

What are the order and degree
respectively of the differential equation?

(@) 1 and 1
(b) 1 and 2 d %
(c) 2 and 1 __ét - 4
oy (7-—1
(d) 1 and 3
Order - /
——
dﬁru :,
S
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Let ydx+(x-y°)dy=0 be a differential

equation,

What are the order and degree
respectively of the differential equation?

(@) 1 and 1
(b) 1 and 2
fc) 2 and 1

(d) 1 and 3

Ans: (a)
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EXAMS

Let ydx+[x—y3}dy=0 be a differential

equation,
What is the solution of the differential
equation?
(a) y4 +2x=¢ #
4 d X -«
(b) y'+3x=c

“ Exyhjgc é‘_’_ (.(r'near o(zf,?- efn]
@ 4xy-y*=c dd | &t

a4 (£)* 2 JO' k_ /

d‘ ( (7) V Pf@ —> f@) or
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[E]=]

EXAMS

Let ydx+(x-y°)dy=0 be a differential
equation,

What is the solution of the differential
equation?

(@ y*+2x=c
(b) y4+3x=¢
(c) Exyq+x=c

(d) 4xy-y* =c

Ans: (d)
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Let y,(x) and y,(x) be two solutions of

the differential equation %=x. If

¥1(0) =0 and y,(0) = 4, then what is the

number of points of intersection of the
curves y(x) and y,(x) ?

(a) No point

(b) One point

(c) Two points

(d) More than two points

& (x) =

W

f (0)

0

!

[0{ ;/141 (VM‘iGUC - Sefcrabfe)

X

- %

+ C

dz(x) = L4 Cy

q
dz [”) :__Qi'i‘ 2
2
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Let y,(x) and y,(x) be two solutions of

the differential equation %=x. If

¥1(0) =0 and y,(0) = 4, then what is the

number of points of intersection of the
curves y(x) and y,(x) ?

(a) No point

(b) One point

(c) Two points

(d) More than two points

Ans: (a)
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The differential equation, representing
the curve y = e*(a cosx + b sinx) where

a and b are arbitrary constants, 1s (y - 61 (aCM% + Lgmx)

dl
(a) +2y 0 ' ' &
i annl 4 A oo.(‘x) + (0.0091 T bxmx)e

dx 1

¢

2
(b) %—+2%+2y 0

d*y _dy

e"( asmy + bast) + d‘ — ()
© Z2-2242,=0 (

2 ' ] ' & /
b & et -aws ——me) + (-afml U [,w!x)e v
(d) Eﬁy:ﬂ

| ¢
(7”__ ﬁ/ ) _e‘l(aw.cu Ls7mt) + ("0‘"’1 * l’w”_)_f_

b ./ / K"m(')
U A e e




N /_
F-¢ ¢ Tt
d”—q?dr-fc?d.‘:o
_d_zél_—-g_%_’.ozd’-"o
dx

da?
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The differential equation, representing
the curve y = e*(a cosx + b sinx) where
a and b are arbitrary constants, is

dl
(2) dx—;’-arzy:ﬂ
d—13+2d—y+2y—0
(b) dxl dx
izl— ﬂ}-+2y—Cl
(c) dxz dx
d..?.
(d) ﬁﬂz:o

Ans: (c)

(@=]
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d
Q) The solution of A x| is -

dx
@) y=2R (b) .
2 2
2 3
© y:"‘Trc (d) y="7+c

Where c is an arbitary constant

Ay g 7%7‘20 and _6_[‘[_;-1 L} 2 < 0

dr dz (n‘mé"ni'ﬁ Lo 7h rbjum/

d:_ﬁ_+6’_\d/z-i§+¢} _1/1/41-0

‘? "
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dy
Q) The solution of == x| is :

dx
@ y=2i o =i
2 2
2 3
© y:%w (d) y="7+c

Where c is an arbitary constant

Ans: (a)
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Q) The differential equation of the curve y=sin x is

d’y dy d’y
—+y—+x=0 ——+y=0
(@) dX2 y dx X (b) dx2 y
d2y d2y
——y=0 d —+x=0
© dXQ (d) dx2
0;' = (s X
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Q) The differential equation of the curve y=sin x is

d’y = dy d’y
—+y—+x=0 ——+y=0
(@) dX2 ydx X (b) dx2 y
d2y d2y
© S27¥=" @ —5+x=0

Ans: (b)
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Q) The general solution of the differential equation

(n (d—y]+x =0 is?
dx

@ y=e>+c 0) y=-e*+c 7
© y=e+o () y=-e+c

(n(j_'&!) . -1

dx

_d‘g_.__,e"‘ = /dd,-.- /e““dx 2 d:__i_____-l-c.
-)

d1
é‘: -1 +¢
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Q) The general solution of the differential equation

dy
| —=|4+x=0 i
ﬂ(]]l’i 1S’

@ y=e*+o (0) y=-c*+c
© y=ete @ y=-+

Ans: (b)
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Q) What is the degree of the differential equation

3/5
4 3 2
{d_YJ LR T P

dx* dx> dx? dx
@ 5 (b) 4
© 3 d 2

=w.—-4=_a'-+f =2
dx‘ dl

R e

dx8
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Q) What is the degree of the differential equation

3/5
4 3 2
(d_y] L&y Py dy

dx* dx> dx2 dx
@ 5 (b) 4
(c) 3 (d) 2

Ans: (c)
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Q) The differential equation representing the family of curves

y=asin (Ax+aq)is:

d’y ., d’y .,
a +A°y=0 -A"y=0
(a) 2 (b) 2
dzy
(c) d—+ Ay =0 (d) None of the above
X

/

f

a(': a).oof(ﬂl*d)
0” - ahl(—-cfn ()\Hx)) —

\

Q08 (A1) )

{ -

1,
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Q) The differential equation representing the family of curves
y=asin (Ax+aq)is:

2 d2

d7y .2 2

(a) F-l_}v y:O (b) dx —-A Yy = 0
Y a0

(©) 02 TAY = (d) None of the above
X

Ans: (a)
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Q)The solution of the differential
equation
d—y=cos(y—x)+1is
dx
a)e*[sec(y — x) — tan(y —
b)e [seo(y x)+ tan(y —

v’
—dé/—/-—df y dy

dr dx
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lod(Sed’f fan”) = 1t €

(pe¢f+ 7‘anl') ~ 60000 = X

@J(!ul’v‘ ﬁnn/;) . X

C

I

¢
Soc (’d——x) + Tan (j’l) = Ce
M_/
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Q)The solution of the differential
equation
dy

— =cos(y — x)+1is
dx

a)e*[sec(y —x)—tan(y — x)]=c
b)e*[sec(y — x)+ tan(y — x)]=c
c)e*sec(y —x)tan(y —x)=c
d) e =csec(y — x) tan(y — x)

(
(
(
(

Ans: (a)
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Q)If y = acos2x + bsin2x, then
d?y d?y

(a)—+y 0 (b)—+2y 0

dx? dx?
2

(c)dy ay =0 (d)ﬂ+4y 0

dx? dx?
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Q)If y = acos2x + bsin2x, then
d?y d?y

(a)—+y 0 (b)—+2y 0

dx? dx?
2

(c)dy ay =0 (d)ﬂ+4y 0

dx? dx?

Ans: (d)
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Q) The differential equation of the

. . - radiug = a) Cenfre — af’)
system of circles touching the Y-axis / (

at the origin is ) 2
-4 +1Y4Y-0) =4
@x2+y? 20y Y =0 (1 ) (d )
dx y ' /N aL
)22 +y2 +209y Y =0 V=3t ff =
dx
2 =D
(c)x?—y?+2xyd—y=0 1 - 201_’-5
dx
2 .2 ay _ N .
(d)x° -y 2xydx 0 — 2 _ a1 —12
(‘/o) 0
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2
02" LA Y 21
v

'y

JM’ . da- L

fy = a- z ( “&‘% 2 02._%9.

I Aty L |
o
| dx
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Q) The differential equation of the
system of circles touching the Y-axis
at the origin is

@x2+y? 21y ¥ =
dx
(b)x2+y2+2xyd—y—0
dx
(c)x” —y” +2xy d—y=
dx
@2 -y 20y ¥ =0
dx

Ans: (c)
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Q) Consider the following statements:

. dy .
1.  The general solution of T =/ (x)+x isofthe form y
= g (x) + ¢, where c 1s an arbitrary constant.‘/ (N - j f (')L) dl + f 1 dL
2

; {
2. Thedegree of (lj =/ (x)is 2.

dx \/ 2 C
Which of the above statements 1s/are correct? d ~ F (X) + .;.l.—- U
(@ 1only (b) 2only A d,
(c) Both 1and?2 (d) Neither 1 nor2
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Q) Consider the following statements:

d
% =/ (x)+x isofthe form y

= g (x) + ¢, where c 1s an arbitrary constant.

1.  The general solution of

2
d
2. Thedegree of (ﬁj =/ (x)is 2.
Which of the above statements 1s/are correct?
(@ 1only (b) 2only
(c) Both 1and?2 (d) Neither 1 nor2

Ans: (c)
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Q)Which one of the following differential equations 1s not

1 ? -
inear 2 /, Lin et 3 dgjm = |
d”y " dy 3
——+4y =0 X—+y=X
(@) v Y ®) X5 7Y \/_) 4
2 dy 2 dy dz
v o Yoyt
9 (x-y) ” (@) cos“x——+y=tanx

)
_gaf_ > —_ .
dx 1+df-az(7 > d(/ \ B

NAA—
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Q)Which one of the following differential equations 1s not
linear?

2

dy dy 3
— +4y =0 — v =
@ 5+ (b) XHY=X
2 dy 2 dy
X — — =9 COS“X—+v=tanx
© (x=y)"= (@ Y

Ans: (c)
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Q) Consider a differential equation of order m and degree n.

Which one of the following pairs 1s not feasible ?
@) 3.2 (2,3/2)

€ (2,4 (d) 2,2) \

&cafru = .:?.. IS mof foufb/e.
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Q) Consider a differential equation of order m and degree n.
Which one of the following pairs 1s not feasible ?

@ 3,2 b) (2,3/2)
€) (2,4 d 2.2

Ans: (b)
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Q) Which one of the following 1s the differential equation to
famaly of circles having centre at the origin?

2 2)dy_ (2 2)dy_ )

X — =2x X< + — =2x

(a) ( y I Y (b) y o 34
dy (2, .2 _

(©) o Ty (d) xdx+ydy=0

19.+le a}_
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Q) Which one of the following 1s the differential equation to
famaly of circles having centre at the origin?

2 2)dy_ (2 2)dy_ )

X — =2x X< + — =2x

(a) ( y I Y (b) y o 34
dy (2, .2 _

(©) o Ty (d) xdx+ydy=0

Ans: (d)
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Q)The growth of a quantity N(7) at any instant 7 1s given by

dN (t

dr( ) = aN(7) . Given that N(t)= cekf, c1sa constant. What
1s the value of a.?
@ c b) k

) c+k d) c-k

EXAMS
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Q)The growth of a quantity N(7) at any instant 7 1s given by

dN (t
df ) = aN(7) . Given that N(t)= cekf, c1sa constant. What
1s the value of a.?
@ c b) k
© etk @) c—k

Ans: (b)

XAMS
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Q) The degree and order of the differential equation of the
famaily of all parabolas whose axis 1s x - axis, are respectively.

(a) 2.3 (b)y 2.1 (c) 1.2 (d) 3.2.
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Q) The degree and order of the differential equation of the
famaily of all parabolas whose axis 1s x - axis, are respectively.

(a) 2.3 (b)y 2.1 (c) 1.2 (d) 3.2.

Ans: (c)
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Q) The solution of the differential equation

-1 .
1+ y°) + (x— ' J’)ﬂzo,ls
dx

. | -1 -1
(a) ertan y zetan Y Lk (b) (x—2) =k62ta11 y

| 1 1
(©) 2xe®0 Y =200 Y Lk (d) yela ¥ _tan 4k

L
I IS AL
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Q) The solution of the differential equation

-1 .
1+ y°) + (x— ' J’)ﬂzo,ls
dx

. | -1 -1
(a) ertan y zetan Y Lk (b) (x—2) =k62ta11 y

1

_ 1 1
(©) 2xe®0 Y =200 Y Lk (d) yela ¥ _tan 4k

Ans: (c)
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Q) Solution of the differential equation ydx+ (x + %2 dy =0

1S

(@) logy=Cx (b) —i+10gy=C
Xy
1
1 =
() —+logy=C @ o ©

Xy
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Q) Solution of the differential equation ydx+ (x + %2 dy =0

1S

(@) logy=Cx (b) —i+10gy=C
Xy
1
1 =
() —+logy=C @ o ©

Xy

Ans: (b)
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Q)Ifx? =y (log y —log x + 1), then the solution of the
X
equation 1s
[x) Y
(a) ylog L—J =cx (b) xlog|—| =cy
b% X

y (x)
(¢) log (;] =cX (d) log L;J =cy

EXAMS
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EXAMS

dy

X

Q)If x— =y (log y —log x + 1), then the solution of the

equation 1s

(a) ylog Li] =cx (b) xlog (%] =cy

y (x)
(¢) log (;] =cX (d) log L;J =cy

Ans: (b)
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Q) Let the population of rabbits surviving at time ¢ be governed

. . Cdp(r) 1
by the differential equation = Ep (1)- 200. If
p(0)= 100, then p(¥) equals: |
(a) 600—500 " (b) 400—300 ¢

© 400-300 & d) 300-200¢"
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Q) Let the population of rabbits surviving at time ¢ be governed

by the differential equation & 1) = %P(t)— 200. If
p(0)= 100, then p(¥) equals: |

(a) 600—500 " (b) 400—300 ¢

(¢) 400-300 ™ (d) 300-200e?

Ans: (d)
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Q) Atpresent, a firm is manufacturing 2000 items. It is estimated
that the rate of change of production P w.r.t. additional

o dP
number of workers x 1s given by P 100 — 12./x . Ifthe

firm employs 25 more workers, then the new level of
production of items 1s

@ 2500  (b) 3000  (c) 3500  (d) 4500
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Q) Atpresent, a firm is manufacturing 2000 items. It is estimated
that the rate of change of production P w.r.t. additional

o dP
number of workers x 1s given by P 100 — 12./x . Ifthe

firm employs 25 more workers, then the new level of
production of items 1s

@ 2500  (b) 3000  (c) 3500  (d) 4500

Ans: (c)
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